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f r-’ Ex 1) pose a traveling salesperson living in cfchmust visit fixe of the the sewen cities A, B, C, D,
' E, F, G ind the number of different routes. {
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2 |

Note Ex 1 is a linear permutation, NOT a circular permutation.

Ex 2) Find the number of arrangements o cight letters A, B,C, D, E,F. G,Hina circle/ brece [e4

oy At
G Lsince arcvlan o,

- MU

Ex 3) Fmd the number of : arrangements)of six of eight colors A, B, C, D, E, F, G, H in a bracelet.

7 dur?
racekfier ) 6 Q_

\ \"‘*--ﬂ_ Ex 4) Find the number-of arrangements of si ight letters A, B, C, D, E, F, G, H in a circle if the
\ arrangement must include the Jetter H. +
5 S
\ 7, -
% 1s &
Ex 5) How many different teams are possible ere must be 6 a team to be chosen from

a group of 8 people.

Ex 6) How many different teams are possible if there must be
chosen from a group of 8 people.

0 (2) ¢ (£ ) (5) 1 (§)e(8)+(DeD) (2 57@

N Ex 7 (p. 45 bottom) The number of 2-combinations,of the set {1,2,. n} is C 6,“ 1) M ,(71 /)_-

ne member on a team to be

oyl v

For each ¢, the number of 2—comb1na.t10ns where 7 is the largest integer in the 2-combination is

Thuso+i +2+,_ + n-l — 1)
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